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A UADNSH
M Fo M Ho £
Sl IRMI AL A B (B9 ®R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OQIJALS OHLY B HI = 200,000& * 2% 400
IIE2HEEANRAEA 13,385 16,160 AN2,775
= 13,085
Al 300
201 Let2d] 12,089 14,864 N2,775
= 11,951
Al 138
01 At 22l 11,951 14,726 AN2,775
OIEAAHNSE HAUM
5,000& = 128 * 30& =+ 23l 3,600
= 3,600
OINEAAHSE ARINII| 228 2
300,000 = 4& = 43| 4,800
= 4,800
ONEZAHEE ARIID| ==2ltl
300,000& * 43 1,200
= 1,200
ONEZBAHSE MRBE 7
300,000& * 63 1,800
= 1,800
OINEAAHNSE M1 EH 551
= 551
02 =224l 138 138 0
OJIESZHEELYR LI MY ZHSIbI
46,000& = 3H 138
202 OHl 1,296 1,296 0
= 1,134
Al 162
01 = LHA YI 1,296 1,296 0
OJNZAAHNSSELIN NME
81,0008 = 1€ * 1 * 143l 1,134
= 1,134
ON=BAS=L HE olg g9
81,000& = 198 = 1 « 23| 162
Hagg 2¢ 1,421 1,421 0
201 Let249] 1,097 1,097 0
01 At 22l 1,047 1,047 0
ondgds 223 7Y 1,047
02 =224l 50 50 0
O LAY ZH S HI
25,000& = 29H 50
202 o4dl 324 324 0
01 = LH 4 Hi 324 324 0
OHALZ YR EA
81,000& = 2 * 2& * 13 324




AN UADSH
X

M 4% MO UNEX BFMHA 25
ool DIAEN KSR BE

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
=X SEAo XANsA HEAMH A = 30,656 33,800 N3,144
DIA=A NSXH HA 30,656 33,800 N3,144
ANSX clsided 30,656 33,800 N3,144
201 et d| 27,696 29,340 AN 1,644
01 AR 22l ] 6,660 6,660 0
OXS IO A AL Ol A
200& * 10& * 2,000 4,000
OXNSX HIIZAF Ot SEAA M
200® * 2& * 22,2508 900
OXNSX MHE 2 WM HE
200 * 35 * 1,000% 600
OFEgs PY 80% * 1,000% 80
OXNsSx Mg @sdHe 22 & 1,080
o=EsHa 40t 60,000 = 4J4 = 23] 480
oEHOUYE 409 * 15,0000H 600
02 232 H4| 21,036 22,680 AN 1,644
OXsSxadE WEE DN SE22
1,000,000 * 12& 12,000
OHSTAIANAEY T3 A2
250,000 ~ 12€ 3,000
OREBENSI SHEHHR Tz )d A2
380,000 ~ 12€ 4,560
OXNHdYR A&zl 2R &Yl
138,000& = 2H 276
OXEFER A 22l 100,000& = 1CH = 12& 1,200
202 o4 | 2,960 2,960 0
01 2L I 2,960 2,960 0
ONSXUSE L SAZUS +8
60,000& * 28 * 22 x 93] 2,160
OXNY XS Ham 9xge =&
10,000& » 2 * 40 800
zsnsE 4 & 7,053,318 5,392,269 1,661,049
= 62,000
hag 88,000
J| 87,204
o= 412,769
Al 6,403,345
HEWE ANEs 22 92,736 66, 260 26,476
& 10,000
Al 82,736
HEWsSAE XA 72,736 66,260 6,476
201 et 9| 14,630 13,690 940
01 AP 2t 2] H| 13,190 13,690 A 500




A UADNSH
A Hsus g4 XA
Cel: HEsns AE2 2el (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OflE HA LHtUlE & 2AIZE MEH
25,000& = 2004 500
OUlSuNSANES(SLF)E a2 AESHA
3,000,000& = 43| 12,000
OS|LEHAl IFEZTHAIAE ICHE WA
1,380& * 5004 690
02 =224l 1,440 0 1,440
OHAS2E HIIRS 120,000& * 1203 1,440
202 044l 2,096 2,096 0
01 SLHOYI 2,096 2,096 0
ORNEHH P2EX
81,000& = 2H * 2& * 43 1,296
OUZEREHS L 24H Z2A22
800,000& 800
301 LA S 1,000 1,000 0
12 JIE24 3 1,000 1,000 0
OstsXasXt 2ASY AR A DEa 1,000
307 21201 A 5,010 4,474 536
02 It S AIHE L 5,010 4,474 536
OlsnE AHel2M =8 2 AMX 5,010
401 Al HIZ 201 Y] 50,000 45,000 5,000
01 A& HI 50,000 45,000 5,000
Ok= 2% 2 % uUA
10,000,000& * 34! 30,000
OHA EAl 2 FH 20,000
o2& & ¥ mME Al EH
100,000& * 504! 5,000
oAME sEE =Al EHI
1,000,000 = 54 5,000
CRMA ST Fyl L M
00,000& * 204 10,000
BAl SZE HIJIE AlE &X 20,000 0 20,000
< 10,000
Al 10,000
401 A& HIZ 2018 20,000 0 20,000
< 10,000
Al 10,000
01 A& HI 20,000 0 20,000
OHASZHE HINSAE X (1) 20,000
< 10,000
Al 10,000
hswns MEXE 5,824,392 4,297,339 1,527,053
= 62,000
s 88,000




A UADNSH
A Hsus g4 XA
22 Hsns MEXZE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl 87,204
< 375,289
Al 5,211,899
HAHE2SAY MHEXE 1,537,493 526,687 1,010,806
= 272,631
Al 1,264,862
201 ¢4l 18,983 20,111 21,128
01 At 2t 2l 1,050 1,050 0
OAUHASSE ML RS
70,0002 = 5% « 13l 350
OEHAl ZX2& 3l 70,000& * 5% = 13 350
Ousi 0lsEH2 SUAAS
70,000& = 5% « 13 350
02 2324l 17,933 19,061 21,128
OHAZBAIAE(BIS) SAL23 17,933
207 & 00 | 20,000 20,000 0
01 2284 20,000 20,000 0
OAUWHA THEXH A7 EA 20,000
307 21201 A 1,498,510 486,576 1,011,934
= 272,631
Al 1,225,879
09 2+=HAHEBEXS 1,498,510 486,576 1,011,934
OAUHA WSHE AAZE0 &8 110,000
OAUHA WNSHE sS5eol A8 40,000
OEBHEEA HEXA 240,000
OHAR=S HEF=+2 X
10,000& = 31404 » 128 37,680
< 11,304
Al 26,376
OAUHA Z2H2AH HEXA 70,200
= 21,060
Al 49,140
OAlLitHA 2EAY MEXA(H+=Y) 240,078
< 240,078
OAUHA 2EAFY WA XA (Hl2=2) (XA 759,922
OBEIAl ot A (Y2 XtEtat) &X X 630
= 189
Al 441
HALd EA84 140,000 12,637 127,363
s 42,000
< 28,000
Al 70,000
307 21201 A 140,000 12,637 127,363
s 42,000
< 28,000
Al 70,000




A UADNSH
A Hsus g4 XA
€ HWEns MEXE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
09 2HAHAEXS 140,000 12,637 127,363
OgiLd A8 140,000
s 42,000
< 28,000
Al 70,000
2x8H FIEEX=2 = 3,100,000 3,100,000 0
307 21201 A 3,100,000 3,100,000 0
09 2+=HAHEXS 3,100,000 3,100,000 0
OUUHXIAM 28 |FFH 22X 3,100,000
ot A(11204) 2,160,000
o EAI(3140H) 660,000
st2(1580H) 280,000
SHUNSHH(NSAR SEA)2Y 246,251 177,325 68,926
J| 87,204
Al 159,047
307 glz2tol & 246,251 177,325 68,926
J| 87,204
Al 159,047
05 RIZHRI &t 3 246,251 177,325 68,926
OSEUEH(LEAL SHA)AY 2 87,204
J| 87,204
OSENELTH(DEAT 2N 2 (X
Al) 159,047
EBAI2HEEE 2 AIAE 2= 4,085 3,339 746
403 MtXISHHE X201 E 4,085 3,339 746
02 SO 2SHHEAEE 2 E AL 4,085 3,339 746
OHAN2HEEZCANAE 2SS 4,085
SZEEA (S LEAl) HEXE 446,963 458,700 A11,737
s 46,000
< 67,758
Al 333,205
301 LB AF 446,963 458,700 A11,737
s 46,000
< 67,758
Al 333,205
12 J|EtE4 = 446,963 458,700 A11,737
OZSSHEAI(SILEHA) HEX A 283,163
ras 46,000
< 67,758
Al 169,405
OZSZEEHA(SILEAl) HE XS (XA 163,800
SgENES+HEUEX(2D) 46,000 0 46,000
= 23,000
< 6,900




A UADNSH
A Hsus g4 XA
€ HWEns MEXE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 16,100
405 XHoHF S HI 46,000 0 46,000
= 23,000
< 6,900
Al 16,100
01 AL EZFH S 46,000 0 46,000
OSguns=t &¢ 46,000
= 23,000
< 6,900
Al 16,100
20228 HHARSAMYR 224 2ESY 3,600 3,600 0
308 XtXIEHH SOl A 3,600 3,600 0
07 X HH2LESE S 3,600 3,600 0
O228d HASSAMELN 2SN 24 HEEY 3,600
EHAl 2 X EaALY 300,000 0 300,000
= 39,000
Al 261,000
301 gEEd = 300,000 0 300,000
= 39,000
Al 261,000
12 JIEHE& = 300,000 0 300,000
OEAl 2R B AaAR (100H) 130,000
= 39,000
Al 91,000
OEHAl 22Xt 2 &AL (100H) (XHA) 170,000
S T2NE S#E3xY 1,136,190 1,028,670 107,520
= 27,480
Al 1,108,710
TS &M 800,000 800,000 0
401 AIEHI L 2 CHYI 800,000 800,000 0
01 A& HI 800,000 800,000 0
O2tU XtHCMIAHBH B7)
800,000,000& * 14! 800,000
WEUTALE &5 - 2el 203,950 185,470 18,480
201 -4 53,300 53,720 AN 420
01 At 22l 9,600 7,500 2,100
OReWS &= Jtblict EIIBAL =2 9,600
oXx& X2 1,300,000 = 1004 1,300
o&x& 2X=2 1,500,000 * 40 A 6,000
oClls 2xt=2 2,300,000& * 1JH 2 2,300
02 =224l 43,700 46,220 AN 2,520
OunsSANE HIR3 36,900
SFNE=FE= 45,0003 * 5902 + 128 31,860




EX: o nsE
Mz HznE 4 I
ool RS CRDE HAXH CEEEED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ocdES 12,0009 = 2004 = 12€ 2,880
ocdAS 10,000€ = 18 & = 12&€ 2,160
OWREANS)| MIUHEHEAH 2222
6,800,000& = 13 6,800
401 Al EHI L 2 0HHI 150,650 109,750 40,900
01 Al&H| 150,650 109,750 40,900
OuSESotNEX T 26,250
o F Ol H Xl Tt 250,0008 * 3504 & 8,750
o Xl Al & X| &+ 250,0008 » 3504 & 8,750
o8 X T X ot 250,000% * 3504 & 8,750
QUENSI KRANES 600,0008 * 5904 & 35,400
OdEE RINEX 200,000 * 1000 & 2,000
OLZE MOl HZA 8,500,000& = 2JH A& 17,000
Os8FgA 2 NE ASI| &1
70,000,0002 * 1JH A 70,000
CZ2NE o8 X&E 13,640 15,200 A 1,560
201 et 10,520 11,420 A 900
01 AP 22| H| 4,000 4,800 A 800
O&FED| X2 50,000& = 1200 & 600
QUEdsE:E 10,0008 * 100AMI E 1,000
OSHerx|xe 24e|Z2 ) A2
600,000 = 42| 2,400
02 2%l 6,520 6,620 A 100
O&BMELZ2 50,000& = 104 = 23] 100
ORHex Xz 2240 S22
35,0008 = 12&€ 420
ONENE g 834
250,000& = 20 ~ 12€ 6,000
202 04| 3,120 3,780 A 660
01 2Ll 3,120 3,780 A 660
ONENE g=& 20,000 x 78 = 12&€ 1,680
OSEANAE 248 U MAST
60,000 = 23 » 12&€ 1,440
=X L2 XS 23,000 23,000 0
201 et 2,000 2,000 0
01 AP 2t 2] H| 2,000 2,000 0
OFX& M & 2,000
301 et M= 21,000 21,000 0
12 JIEtE A& =2 21,000 21,000 0
OSteta =13 ¢4 21,000
DNH2NX DSoHM AFY X & 11,600 5,000 6,600
&< 3,480




SH: MRS
A Hsus g4 XA
Cel: HEE CRDE BHZXA CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 8,120
201 L4 5,900 0 5,900
< 1,770
Al 4,130
01 At 2t 2l 5,900 0 5,900
O=2dHsete Dy NJ s 5,900
< 1,770
Al 4,130
301 LA F 5,700 5,000 700
< 1,710
Al 3,990
12JEt 243 5,700 5,000 700
O=2dBsetY gt NJ netl
100,000& * 579 5,700
< 1,710
Al 3,990
HEol2sd SHFEX S5FEH EXAY 84,000 0 84,000
< 24,000
Al 60,000
401 AIEHI L 20 84,000 0 84,000
< 24,000
Al 60,000
01 A& HI 84,000 0 84,000
OORIO0IZES 7Y BYHEHI B2 CCTV & X (
EHM =S8t W) 24,000
< 12,000
Al 12,000
Ooglol2s7d s¥H=EX &= CCTV &XI(
B =SE W) (XHA) 18,000
O0glolBEs2d sE=3EX &= CCTV & X (
AHxSE W) 24,000
= 12,000
Al 12,000
O0elolBEs2d sgE=3X &= CCTV & X(
Z4xSEW)(XHA) 18,000
HH2IZH (S 220,786 199,913 20,873
= 10,007
Al 210,779
el 2 86,382 74,241 12,141
= 10,007
Al 76,375
HSAY (ISR HSZALX ) 39,716 37,312 2,404
101 @124 dl 39,716 37,312 2,404
03 ZRE (R AY)22NB2 39,716 37,312 2,404
ONSZHEERD 220 L4 (HFA2,
0s8) 39,716




fA: AN SH
B LAY (NADS D)
chel: ol gyl CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
=lleg 2,096,580 * 12& 25,159
¥4 2,09,580& * 50% * 100% * 23| 2,097
o F A FOHI 2,096,580& * 60% * 23| 2,516
cHIRSFIIH=E 105,7443 » 18Z 1,904
oXHTHSE 150,000& * 12& 1,800
o MG AH| 140,000& = 12& 1,680
oA+ 150,000& * 128 1,800
oXRad 110,000& » 12&8 1,320
It EE 120,000& = 12& 1,440
SEEETICEFEEERE =) 46,666 36,929 9,737
= 10,007
Al 36,659
101 14 Hl 46,666 36,929 9,737
= 10,007
Al 36,659
03 3R (RINAHY)2ZNHES 46,666 36,929 9,737
OALZER 22X Ex(HFARA, 05
s) 46,666
cJIE2=s 2,658,029¢ * 12& 31,897
= 10,007
Al 21,890
oIS 2,658,029 * 50% * 100% * 23| 2,659
o H A F O 2,658,029& = 60% * 23| 3,190
cHIIRSFIIH=E 128,850& » 18 2,320
oXMATHSY 150,000& * 128 1,800
o Z A G A 140,000& » 12&8 1,680
QA+ 150,000& * 12& 1,800
oXRd 110,000& * 123 1,320
olet 2 gl 78,263 73,184 5,079
IA2YH (NSNS EHF2Y) 78,263 73,184 5,079
101 @124 dl 78,263 73,184 5,079
03 3R (RIHY)22NHES 78,263 73,184 5,079
ONSIASEHI2E 224 E= 78,263
=JIE= 2,096,576& » 2% » 12& 50,318
c¥dI2xd
2,096,576& * 45% » 100% * 23| * 29 3,774
o FE S IHI
2,096,576& = 60% » 23| = 2H 5,032
CcHIIRSFII=Y 105,744 + 2% + 19 4,019
oM ATHSH 150,000& = 2H = 12& 3,600
o ZAUZ A 140,000& * 29 = 12& 3,360
QA+ 150,000& * 2% * 12& 3,600
oA 110,000& * 2% = 12& 2,640




A UADNSH
M HY2IZH (U wS)
Sl ol ) CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| | ctEdE 80,000& = 2% = 12& 1,920
el 2 37,421 36,408 1,013
QF2IEH(JIZ2SIXE) 37,421 36,408 1,013
101 1244 dl 37,421 36,408 1,013
03 B2 (RIHY)22NHE S 37,421 36,408 1,013
OJIS22gGXA 22X Ex(HHARA, 95
g) 37,421
=Jl2g 2,067,210& = 12& 24,807
o&dI=xg  2,067,210& * 45% * 100% * 23| 1,861
o H A F O 2,067,210 = 60% * 23| 2,481
SRUPNE =) fa | 103,200& * 5 516
CANLYTRLYLS(95E)
19,2573 * B5Al2H = 12& 1,156
cXAFEHSE 150,000& * 12& 1,800
o Z A G A 140,000& » 12&8 1,680
oDl 150,000& * 12& 1,800
oXBRBad 110,000& » 12& 1,320
Jl23&dl 18,720 16,080 2,640
JlE2&l 18,720 16,080 2,640
201 Let2d] 13,560 11,520 2,040
01 At 22l 13,560 11,520 2,040
ORNEY Jl=ZHl 250,000& = 123 3,000
OANREE FL(SAMX &) 200,000& » 128 2,400
O= &l 8,000& = 12 * 5& » 12& 5,760
O#MFAIRII 42 2
300,000& = 404 = 23l 2,400
202 04 Hl 960 960 0
01 = LH 4 Hi 960 960 0
OHl&4Z2 2ot 960
203 R =&l 4,200 3,600 600
04 FN2ELRZ=TH| 4,200 3,600 600
ORAM2IYRFLH] 350,000 * 123 4,200
Mees(Uausit) 136,453 128,098 8,355
WEHHX S 136,453 128,098 8,355
HEHeH X = 136,453 128,098 8,355
701 JIEtEI HESEES 136,453 128,098 8,355
01 JIEteI HE =3 136,453 128,098 8,355
O=xtF¥ e EL3H 8=3 136,453




